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No. | XiHBBH | 1§ B | B ® &

22 I0ATH| 2O [=4E i = Hil R SIS 2 s 3,200
93 WALH| Zom if%ﬁ%g?%ﬁ%jﬁUb:i{ﬁﬁﬁ”&?é’%k 3196
24 10A1H| 2O |HE ARG EIREITN S 2 M 3, 200
25 10H1H| ZDft |ZEKRFERDFIR ST S 2 Rl 3,196
26 10H20H| B & |F 5, 000
271 10H22H| Z=0fh |#2% 0 BAEVHERITIIN T 5& 5, 000
28| 10A26H| & K |&F # 10, 000
29|  11A2H| Zofth |JLEITHSEEFHERITICN T 5 & 30, 000
30 ILASH| % & |ZERR 12, 000
31| 11AIH| 2oft |BIfREEARITHT 5B AN 10, 000
9| 11g17H] Z00M é@;ﬁ%i%@%&%ﬂjm%ﬁ%ﬂﬁfb:i@‘?é 5. 000
33 12A3H| ZOff |ZE/KARHEH BUH SIS 2 s 2,916
34 12A3H| O (E et R SIS 2 M 2,916
35| 12A1TH| ¥ & |BREHTEEICHT2HE (L5 v 7 ) 922
36| 12HITH| & B [BE (LF v X) 922
31 I2AITH| = % |[dtsEiTs LA & 0B RAc= 3,000
38| 12H18H| o &t |F 5, 000
39|  LAUH| & % [dEirps TRFFERLe 4 ® 3,000
01 1HUIA| & # |REFGHEBEHBOASLHEDOD ENRE 3,000
41 LAIGH| 2o |FHrE st AT S 2 2, 876
42 LAIGH| £t |SLEAwT BT S 2 2, 876
43 LAIGH| £ |ZEK T AT S 2 2, 876
44 1HISH| #i & |EREEMEREEHBHEITET 208 922
45 1A2H| & & |HERREICZEIMKHEOE N 2,000
46 LH28H| ZOft (20194 5 At st DX & R & 1259 5 fifE 4, 584
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No. | 2iHAB | 18 H 2] B & =
47 1H28H| & % [‘FS0EEILZEAERERHAHESE 5, 000
48 LH28H| & & [FERSUEILEIGRSF0BRHEILa 4 B 8,000
49 LH29H| #i & [BREISEICHTSHE (LY v 7 R) 922
50 LH29H| & & [FFESIFEItERESEXEFEIBH a4 3,000
51 9H150| 2om %iﬁ?%jﬁgfgjﬁU_ Rt E RO s 5. 832
52| 2H2H| B & Fﬁf@éf;éﬁ}g”ém% 1,844
53|  SHISH| & R & M 10, 000
54| SHISH| & B [EfER 12, 000
55 SH26H| &8 il LA BERRENTHE S g5l 5, 000
56 SH26H| &8 B |Ei/NARBEIRENTHE D e 5, 000
483 ~ 9A 21§ 104, 418
108 ~ 38 35 184, 200
5 6 {4 288, 618




